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3.

LAN, WAN and MAN are computer networks | 4.
covering different areas. Their first alphabets
L, W and M respectively stand for
(a) Local, World and Middle
(b) Long, Wireless and Metropolitan
_4) Local, Wide and Metropolitan
(d) Least, Wireless and Maximum
A rectangular garden is to be twice as long as
its width. If 360 m of fencing including gates
will totally enclose this garden, what is the
length of the garden ?
3
~ -
& 120m 2
(b) 130m
=
14
t\z(C) 0 m
(d 150m | ~ £
5
o
3> 2
1?/ - 6.
The ‘Cloud Computing’ technology refers to
% A set of algorithms that solves problems
using fuzzy logic
(b) Many computers that are
interconnected through wireless
networks and satellites
/I/A distributed computer architecture %
that provides software, infrastructure
and platforms just as required by
applications/users
@> A futuristic technology that will use
clouds to perform computing
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Consider the following statements for
Nano-technology :
Ps It is the technology of creating materials
and devices atom-by-atom.
\3 Physical properties change at the
nanometer scale.
3. Chemical properties change at the
nanometer scale.
Which of the above statements are correct ?
(a) 1and2only
(¥ 1and3only
(¢) 2and3only
(d 1,2and3
The Large Hadron Collider (LHC) used in the
CERN project is a particle accelerator located
on the border between
(2¥ Spain and France
(b) France and Germany
(gy Spain and Switzerland
France and Switzerland
The method of communication in which
transmission can take place in both
directions, but happens only in one direction
at a time, is called
(a) Duplex
_br~ Half Duplex
(¢)  Full Duplex
(d) Simplex
A collection of programs that controls how the

computer system runs and processes
information is called

(a)
ST
(c)
(d)

Compiler
Operating System
Linker

Assembler
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(b) 130m
(¢c) 140m

(d) 150 m
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8. SMPS is the acronym for’
(a) Store Mode Power Supply
(b)  Single Mode Power Supply
ySwitch Mode Power Supply
(d) Start Mode Power Supply

9. = USBis the acronym for
(a) Uniform Service Broadcasting
(b) Unique Solution Bus
yﬂ Universal Serial Bus

(d) Universal Service Broadcasting

10. In a chess tournament, each of the six players
will play with every other player exactly once.
What is the number of matches that will be

" played during the tournament i
i

=
(a) 10 L =T ‘%
(e 20 “
l
d) 25 o
7R

11. The Maternity Benefit Act, 1961 (M.B. Act)
provides for how many weeks’ wages during

the maternity period ?
(a) 11 weeks

(b) 12 weeks L
(c) 13 weeks

)d?/ 14 weeks

B-CRHE-O-PAPA (4-

12. Which of the following are the instruments of

providing social security in India 5%
+1+— Income Tax
-2~ Employees’ Provident Fund
3 General Sales Tax
4~ LIC
b« National Pension Scheme

<& Postal Provident Fund

Select the correct answer using the codes
given below :

(a) 1,2,3and4

(b) 2,3,4and5

(¥ 2,4,5and6

(d 3,4,5and6

13. A man buys apples at a certain price per
s

dozen and sells them at 8 times that price per

hundred. What percentage does he gain or
lose ? -”L F 2 g

(a) 4% profit
Biied 2.
(b) 6% profit J 2" ot 1

M 4% loss

(d) 6% loss

)

/

Fa6 |
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SMPS forge gftaf wieg (Thifam) & 2
(a) VR AIE Yiat g
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(a) 10

(b) 15

() 20

(d 25
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For which time intervals, is the percentage
rise of population the same for the following

data s
Period Population
1970 40,000
1980 50,000
1990 60,000
5000 72,000 |
2010 80,000

1970 — 80 and 1980 — 90
1980 — 90 and 1990 — 2000
2000 - 2010 and 1990 — 2000
1980 — 90 and 2000 — 2010

(a)
(b)
(e)
(d)
Four quantities are such that their arithmetic

mean (A.M.) is .t}?e same as the A.M.‘ of ‘the
first three quantities. The fourth quantity is

(a)
(b)
(c)
(d)

Sum of the first three quantities
A.M. of the first three quantities
(Sum of the first three quantities)/4
(Sum of the first three quantities)/2

If the difference of two numbers is greater
than the sum of the numbers, then

Both the numbers are negative

b Exactly one of the numbers is negative
(c)
(d)

At least one of the numbers is negative

None of the above

A palindrome is a number which reads the
same from left as well as from right, for
example, 23732. What is the number of
palindromes between 10 and 1010 ?

@ In_writing all the integers from 1 to 300, how

many times is the digit 1 used ?

(a) 160 ) £ 32
(b) 140
€)' 120 q)\ 5
(%
d) 110 ik
\0\ SNON
Q\K
19. Consider the sequential integers 27 to 93,
both included in the sequence. The arithmetic
average of these numbers will be
(l/\
(@) 615 o8
&
(b) 61
(@ 605 'y
(d 60 5
21 (23-1)
e sl e
e o 7
LA
20. Consider the following statements in respect
of Atal Pension Yojana :
1.  Beneficiary must be in the age group of
18 to 40 years.
2 Beneficiary will receive the pension only
after he attains the age of 60 years.
(= After the death of a beneficiary, his

Spouse continues to receive the pension.

4. No nominee of the beneficiary is
permitted.

Which of the above statements are correct ?

(}9 3 and 4 only
y 1, 3 and 4 only “_7_‘;,3’.\1
(" 1,2 and 3 only te
t
@ 1,2 3and4 sl BN
2@[-2.4»'40'@4"71
LY. " RereTy Y

ls

e ———
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S7ary TGS
1970 40,000
1980 50,000
1990 60,000
2000 72,000
2010 80,000
(a) 1970 — 80 37T 1980 — 90
(b) 1980 — 90 37 1990 — 2000 19’
(¢ 2000 — 2010 3 1990 — 2000
(@ 1980 — 90 3T 2000 — 2010
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(a) w¥H i TRE 1 ATh
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@ g H F HE T
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‘g | 10 3R 1010 % s AT hi FEM A
9 A\
X ¢
(@ 101 o\ \%Q;E\
@ 100 1° \O
(c) =99
@ 90
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(a 160
(b) 140
(¢ 120
(@ 110
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(a) 615
(b) 61
(¢) 605
(d 60
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21. If the Prime Minister of India is a member of

the Rajya Sabha
He can make statements only in the

f Rajya Sabha

th/' He has to become a member of the Lok
Sabha within six months

He will not be able to speak on the
budget in the Lok Sabha
‘/(d) He will not be able to vote in his favour
in the event of a no-confidence motion
22. Which one of the following formed the basic
premise  for developing the Indian
Constitution ?

0 o The Government of India Act, 1935

(b)  The U.S. Constitution
(¢)  The British Constitution
(d) The UN Charter

23. The Malimath Committee (2003) looked at

ways to reform the
(a)
(b)
(c)
@/ Public-Private Partnership in India

Educational System in India
Criminal Justice System in India

Copyright Laws in India

24. What are the disadvantages of Provident

Fund Scheme ?

1. Money is inadequate for risks occurring
early in working life.

2 Inflation erodes the real value of
savings.

3. It generates forced saving that can be
used to finance national development
plans.

Select the correct answer using the codes

given below :

(@) 1and2only

APY” 1and 3 only

(¢) 2and3 only

(d 1,2and3

B-CRHE-O-PAPA
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26.

. Besides resistance to pests, what are the
other prospects for which plants have been
genetically engineered ?

1~ To enable them to withstand drought

/2/ To increase the nutritive value of the
produce

3,

To enable them to grow and do
photosynthesis in spaceships and space
stations

To increase their shelf life

ot

Select the correct answer using the codes

given below :
(@) 1,2 and 3 only
(b) 3 and 4 only
(¢) 1,2 and 4 only

(d 1,2,3and4

Consider the following items :
1. Consumer goods and services
2. Gross private domestic investment

¢ 83— Goods and services produced by the
Government

4" Net income from abroad

Which of the above items are included in
GNP ?

?ﬂ) 1,2 and 3 only
T «b)
(c)

&7 1,2,3and 4

1, 2 and 4 only

3 and 4 only

(8-C)
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&), 1935
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(a) WRa o fren yoreft
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(a) Had 1,23 3

(b) Had 33 4

(€ Fad 1,23 4
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27. Which of the following statements best

describes the content of the theory of
distribution ? ’

(a)

The distribution of income among
different individuals in the economy

(b) - The distribution of income between the

Centre and the State Governments

(o The principle of just distribution of
wealth and income

‘()d/ The distribution of income between the
owners of factor resources

28. The demand for a factor of production is said

to be derived demand because

1% It is a function of the profitability of an

enterprise
‘-2/1 It depends on the supply of
complementary factors

3 It stems from the demand for the final
. product

relation to wants

Which of the above reasons is/are correct ?

(a) 1lonly
(b) 3only

l}e)’ 2 and 4 only
(d 1,2,3and4

It arises out of means being scarce in

B-CRHE-O-PAPA
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29. Whenever countries set up a Free Trade Are

they abolish restrictions on trade amo

themselves and

They establish a common external t
on imports from outside countries

Lg‘ They abolish all restrictions on impo
from outside countries

jg)(They abolish all restrictions on impo

from other Free Trade Areas

Ld')/ Each country maintains its own set
tariffs and quotas on imports fro
outside countries

30. Which of the following are the functions
Foreign Investment Promotion Board (FIPB) ?

1—"To ensure expeditious clearance of the
proposals for foreign investment

2. To review periodically the
e implementation of the proposals cleared
by the Board
3~ To undertake all other activities for
promoting and facilitating = FDI
as considered necessary from time to
time

4. To interact with the FIPC being
constituted separately by the
Ministry of Industry

Select the correct answer using the codes
given below :

((x)/(l,2and3only
\53 1,2 and 4 only

(@ 1,2,3and4
‘;) 3 and 4 only

C)
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#1 sjadeg P FaTaE €9 F AT TR ?

(@) i # fafim =fw & d= o™
&1 feraaon

(b) g qU TT THEA H o= I H
oo

(0 Tl o 3 % =AEETa faawr H

@ IUEH FETEEl % i & o 3 H
e
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3, HiT6

1w frdt sam $i SvEedT HT %IH &
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(a) Had 1

(b) e 3

() had 23 4

@ 1,2,33MW4
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30, f faw gavw @1 (FIPB) % FwfafEd
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1. fersh P % foe st i s Ferh
(feereftm) gifeaa &

o &S gra Frem (fFerr) fv o SRl
FETTA 1 AT T HET

3. FDI % wa¥w @ gmiem & fow
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4 S ATEE g TR ¥ Tfed fRT I @
FIPC % T19 3(=A=AshaT Al

9 R MU e TN HFHE IR G :
(a) had 1,23 3

(b) Had 1,23 4

© 1,2,33M4

(d) had 33 4




31. The term ‘Dear Money’ refers to
(a)
(b)  Value of money at the recession stage

/ High rate of interest

(d) Savings gained due to decrease in rate
of interest on housing loans

Low rate of interest on housing loans

32. A certain sequence of integers is constructed

as follows :

Consider 0 and 1 as the first two numbers.
The next, i.e. the third number is constructed
by their sums, ie. 1. This process of
constructing the next number by the sum of
the last two constructed numbers continues.
Taking these numbers 0, 1, 1 as the first,
second and third numbers in the sequence,
what will be the 7" and 10™ numbers,
respectively ?

(a) 6and 30
(b) 7and33

)t)' 8 and 34

(d) 10and 39

Y

o Vv

\\

(9

33. The Rangarajan Committee on disinvestment
of shares in Public Sector Enterprises

suggested that

1! The percentage of equity to be divested
should be no more than 49% for
industries explicitly reserved for the
ke b RS

public sector and_it should be either

74% or 100% for others.
.———/__‘ Py o

Year-wise targets of disinvestment

34. The Parliament can make any law for whole
’ or any part of India for implementing
‘ international treaties
;_ (a)  With the consent of all the States
:
(b) With the consent of majority of the
States
(¢) With the consent of the States
concerned
/@r Without the consent of any State
35. In the study of pollution, SPM refers to

(a)  Sulphur Phosphorus Matter

(b)  Sulphur Particulate Matter

(¢) Solid Particulate Matter

_(d>~" Suspended Particulate Matter

36. Which of the following industries were first

established during the British Rule in India ?

))’

Cotton Textile Industry; and Jute

Industry

should be maintained. (b) Jute Industry; and Iron and Steel
Which of the above statements is/are correct ? Industry
. N (¢) Cotton Textile Industry; and Chemical
M g ool Industry

./M Both 1 and 2
(d) Neither 1 nor 2 (d) = Jute Industry; and Chemical Industry
B-CRHE-O-PAPA (12-C) 8 3
o s e B LR b |
) ek - S AL




31.

32.

33.

B-CRHE-O-PAPA

gy W o fafde e 2 2
(a) STaTER i W A SR
(b) TE H e H gl B A
© = TR

(d) STl O W oS # @ F FH H
HRU I =

@ﬁﬁﬁaw%'@ﬁﬁﬁﬁnﬁwﬁaﬁwﬁ
g P T 2

e wifr, 0 3 1 3Ty @ Fe | ¥
2Mt ¥ dee, WA 1@ eETeh i el
T T & T | et 2 e s
¥ arHe § el gEm % wa fRy 9W A
7= i o @ ® 1A A o, 1, 1 FE W
Wﬁqﬁﬁ,qyﬁaﬂt?ﬁaﬁmiﬁ, @
7ot 3R 104 TEATd sHE: T A ?

(a) 63 30
(b) 73 33
(c) 83 34
@ 103 39

Tt & & s § I ¥ fafEw w

TreH affa 3 gam, &%

1. A (@) H ogE HIH et
e, Ted: wEwt &9 % g
e an % fow 49% & A wE
B =ifee, ofv o & faw @ @ 74% W
100% Bt 1R |

o, fafRw %1 afor @&d T W ST
=T |

Wmfﬁﬁm@mﬁ%ﬁ?

(a) had 1

(b) HadA 2

(¢ 13 22Ht

@ JI@1L,IR2

34.

35.

36.

(13-C)

= =1 urE ¥ et wm % for g fafy s
== 2

(a) = TSE Y wgAla |

(b =EEET TS HI HEHfd &

(o) TefE Tsdl i HeEid ¥

@ Fee ot Tsa B gewla & fo

m%mﬁ,sm%éﬁﬁwm%?
(a) TEH HEHE A

b)) FEH qfégere A

(c) HifTe widger A

@ TEIE Tiegee A

s 3 fafew v % AR Fefefea a3
F FA-Y, weyom wfiE ge Y ?

(a) tﬁﬁmm;wwaﬁm
(b) UeEH IGNT; U1 e IR T I
(© mﬁmm;wmaﬁn

(d) weEd IEI; a1 WA T




3
37. Which of the following are the roles of the A firm is purchasing two items, both on credit
Finance Commission in India 2

;- SnoL 1
et The distribution of money collected for the first item is 25/10, 1/20, net 30; and

through taxes

\%o Evaluation of Centrally sponsored

on the same day. The credit term offered

the credit term offered for the second item

schemies is 3/5, 2/15, net 30. The declared purchase

3._~ Evolve principles based on which funds cost of item 1 is ¥ 60,000 and that of item 2 is

are allotted among States T 1,40,000. If both credits can be settled on

&  Todevelop Five Year Plans the 14 day, what will be the total amount to

Select the correct answer using the codes

given below :
(@8 1and4only

/(‘ET\ 1 and 3 only

33 be paid out ? ] 5
- (@) ¥ 1,97,200 ‘>Q
W e et

{

B o

T‘ . S
(©) 2and4only . q/‘7 MY b 7197500 ; .
(d) 2 and 3 only (],,l . l -
(6 ¥ 1,96,600 )
2 Ms
38. Which of the following statements are correct (d ¥ 1,98400 /3 3
regarding the International Monetary Fund 0

(IMF) ?

()yoo

/1/ India is a founder member of the IMF. '

k India’s quota in the IMF is more than

4 percent.

%‘ Finance  Minister

ex-officio on the IMF.

4. IMF conducts regular review of India’s
economic status under Article Iv.

Select the correct answer using the codes

given below :

(@) 1,2and3 onlyy

'/b)' 1, 3 and 4 only

(¢) 2and4only
(d) 1,2,3and4}

B-CRHE-O-PAPA

40. What was the position  held by
Br. S Radhakrishnan, before he became
the Vice-President of India ?

is  represented

(a{‘ Ambassador to the U.SA.
W Chairman, U.G.C.
(% Chairman, Planning Commission

(d)  Ambassador to the Soviet Union

(14-C)




37.

38.

B-CRHE-O-PAPA

@ 1,2,33M4

Frafafigs § @ S99, wa § e am@m
fierd § 2

1 U g I TS e s

2. %% g YR st 1 qeaie

3. ¥ fagmi =t fowfaa wen R smuw
U % fie el 5 e dar 2

4. Yoaig Aot i fawfa e

i fow T e F @ W wd W ghn

(a) Fad 13K 4

(b) a9 13K 3

() Haei2 M 4

(d) e 23N 3

ST T F (MF) % T § e
Fo § F B T E

1. 9RA IMF 1 S8919% 92e 2 |

2. IMF & WRA &1 $Ie1 4 SfavE ¥ (e
2

3. IMF3 fou wft v wfafiies war g |

4.  IMF, 373<9% IV & 31, ¥ $t anfdie
feufa =1 frafia gt s 2

e fou g e 1 @ woaE IR g
(a) ad 1,23 3
(b) Had 1,33 4
€ Fad23fR 4

39. FiE =TI 31 Fega Y, A1 H € uR @i

40.

(15-C)

= E AR R veeht g F R e
o 1 3uR feem (3fee o) 2-21—/10,1/20,
fa= 30 ; ot qul o ¥ R s fe
T2 3UR e (shfee o) 3/5, 2/15, fawt 30
2 | 55 1 6 9 %3 @@ 7 60,000 & ik
559 2 I HIfYd 9 A T 1,40,000 & | AR
291 3UR 149 &7 wumifa fee n o= &, A
$TaE F I et Fo TR = B 2

(@) ¥ 1,97,200

() T 1,97,500

(© ¥ 1,96,600

(d) ¥ 1,98,400

IRd % IO W F s ©. W
THTHE R HTid 9 &7 o1 2

(@) USA ¥ T9g

(b)  U.G.C. I reay

() IS IARTT T e

(@) wifea @ F o




41.

42.

43.

Walking at 3/4™ of his usual speed, a man
reaches his office 20 minutes late. What is the
time taken by him to reach the office at his

usual speed ? (}/ X e
A

/(«a{‘ 80 minutes

(b) 70 minutes \ I
(c) 60 minutes - 30
(d) 50 minutes

Consider the following statements regarding
the Pradhan Mantri Suraksha Bima Yojana :

1 It is applicable for all bank account
holders up to the age of 60 years.
$ It is an accident insurance cover.
4. The insurance covers death and
permanent disability due to accident.

It is a life insurance cover.

Which of the above statements are correct ?
(a) 1and2only \(
ey 3and4 only
(© 2and3only
(d) land4only \»
A and B run a 1 km race. A gives B a start of

50 m and still beats him by 15 seconds. If A
runs at 8 km/h, what is the speed of B ?

(a) 44km/h

'}b? 5-4 km/h 5 o %
(¢) 6:4km/Mh
(d 7-4km/h e

Lo
In a race of 1 km, A can beat B by 40 m and B
can beat C bﬁo m. With how much distance

can A beat C in a 0-5 km race ?

47.

Yo &~

In an office, 40% of the employees are men
and the rest women. Half of the employees
are tall and half: short. If 10% of the
employees are men and short, and
40 employees are women and tall, the number
of tall men employees is

tb
(a) 60 s i Lo
®) 50 >
>
Py 4
5 AN}
(d 30 m 0o©

v

Which of the following were the main aspects
of the Gandhi-Irwin Pact of 1931 ?

Suspension of the Civil Disobedience
Movement

To take part in the then forthcoming
Simla Conference

I
3‘

'/4,. Release of Political Prisoners

Pay taxes for the period of the Civil
Disobedience Movement

Select the correct answer using the codes
given below :

(a) 1and3only
(b) 2 and 3 only
A4 1and4only
(d 2and4only

Which of the following is not an absolute
measure of dispersion ?

(a) 42m 5o "(a) Range
(b) 43 m L IS ’Lby Mean Deviation
() 44m (¢) Quartile Deviation
) 45m I T.i" *SS (@) = Coefficient of Variation
')é J56:
B-CRHE-O-PAPA %,5,, 22 1e-c)
X,
5 i |10 °C¢ Lo ‘350
S—T
&




41. #ﬁwﬁﬁmmmﬁsﬁiméw 45.
mmﬁ*mfmﬁzoﬁazﬁa’aﬁﬁam%l
%meémmmﬁaqﬁaﬁ
i R T o 2 o
(a) 80fime
() 70 fme
(¢ 60fFe
d 50fFe

42. YR W g o A F v § fefile
mﬁwﬁwaﬁﬁq:

L ¥ 60 94 7% H Iy ¥ wf %
Q14T % forg @my 2 |

2. ¥R TH e fitmr gram i |
I8 T gee oftar guam | 46.

T S, e ¥ g mqy et v
ﬁ:mﬁiﬁmgtmmwaﬁ%l

Wwif@aﬁmﬁw%?
(a) hae13fte
(b) 3l 33K 4
(c) aﬁﬁ23ﬂt3
(d wae13i4

43. AaﬂtB1kmﬁagﬁwmé%%| B#H A
A%somwﬁﬁmﬁﬁﬁﬁ,ﬁwﬁA,Bﬁ
15ﬁfm@rzném%|zrf2A,8km/h£rmé
Qe R, W BH W w2
(a) 44kmm
() 54 km/h
(¢) 64km/h
d 7-4kmm

f%ﬁ?nmfawﬁ,w%a?ﬁmﬁgw%aﬁt?m
W%lmmmﬁﬁaﬁéaﬁtm
Rﬁaﬁé%‘lv&lo%aﬁaﬁgm%aﬁ(m
ﬁéréé,aﬁtmaﬁ?rﬁq%aﬁ%aﬁtaﬁﬁ
mé,aﬁmﬁaﬁwmﬁﬁﬁm
MR
(a) 60
(®) 50
() 40
@ 30

fr=fofes & @ #93, 1031 3 ieft-gefem

FEEE % YW gl & 2 :

O ERIE L HII T o —

2. T9RE BN A Rmen e §
SEil

8. BT Taw Aidem oy % iy
JTAH HET

4. oo st € gfe

ﬁ%ﬁqwgmmmaﬁmgﬁq:

‘(a) Fad13k 3

(b) Had23ik 3
(¢) Had13f4
d Faa2ai 4

M. 1km¥ el e F, A BH 40m@ st B ¢ | 47, frfofen # & w, whawo € frde

H 50 m ¥ T THAT B | 05kmHI AT F A
CH feft 3t & ovm & w0 wwar 2

(a) 42m

(b) 43m

() 44m

(d 45m

B-CRHE-O-PAPA (17-C)

TR 2
(a) wWH
(b) wTeF foerem
(© =qIF faem
@  foreror oris




25 2°

A provisions shop-owner is found to mix 25 kg
of rice worth ¥ 32/kg and 20 kg of rice worth
<35 and the mixed rice is sold at 15%

e

48. 51.

profit. What is the selling price of the mixed OO
rice ? \
‘?):o @ < 3540k \E’e’ 5
-4
{ b 5 /Uc;
S © (b) 3833k %
b ’\ ¥ 5'5 4
(J (¢) ¥ 36:50/kg
O (d) ¥ 3742/kg /P‘d $
Go & “4E
A
g2
49. The original lay of a rectangular plot ABCD | 59,
on open ground is 80 m long along AB, and
,\GU\ 60 m wide along BC. Concreted pathways are
bb intended to be laid on the inside of the plot all
X around the sides. The pathways along BC and
DA are each 4 m wide. The pathways along
&5 AB and DC will mutually be of equal widths
\ e such that the un-concreted internal plot will
\'\A;KJQO measure three-fourth of the original area of | 53.

1 v\,.b the plot ABCD. What will be the width of each

of these pathways along AB and DC ?
0 -

(a) 3m )/
\/,,ga A7 4m D
t‘oo ™ 5m
6 m 54.

s W */';[(4

every two guests used a

bowl of rice between théuw__ﬂlmamsts

)

b
\

At.a dinner party,

N gPonsed a bowl of dal among them and every four
Rk ests used a bowl of curd among them. There
are altogether 65 bowls. What is the number

of guests present at the party“%o I ]

(a) 90 'Voﬂ c}
b 80 'Yé £y
te)" 370
L)
@ 60 %’4&;
ir S pee
B-CRHE-O-PAPA { (18-C)
2.5

5

e

o

H-

Social Security may provide cash benefits to
persons faced with

~1— Sickness and disability
«2— Unemployment

3 Crop failure

4~ Loss of the marital partner

Select the correct answer using the codes

given below :

(a) 1,2and3 only 5“; q
(b) 1,2and4 only e T
(¢)  3and4only

id)/l‘,2,3and4 o i

If 5 men and 9 women can finish a piece of

wofK in 19 days, 3 men and § women will do
the same work in
(a) 12 days R
(b) 13 days %0 Ne—
o Gagtu
ays
&é =
If the radius of a & cle;i&reduced by 50%, its
area will be reduc ff by
@ 30% g
X 50% #A = ——

-
() 60% q.v % £*
@ 7%
Employees State Insurance Act, 1948 covers

factors like

1,~"Factories and establishments with 10 or
more employees.

Provision of comprehensive medical care
to employees and their families.

3. Provision of cash bénefits during
sickness and maternity.
< A Monthly payments in case of death or

disablement.
Which of the above statements are correct ?
(8 1,2 and 3 only \

(b) 1,2 and 4 only
34 ¢S

(¢) 3 and4only
(d 1,2,3and4
M &a

"Oeg :
22
-3




48. T YA T 6 FE AU geEER T 32/kg | 51
T 25 kg @A HR T 35/kg G 20 kg
Iaa e = 3@ ffta aEd B 159 W w
JuaT ? | 3@ Tufd =mew & fshl Sma s
22

(a) T 3540/kg
(b) ¥ 3833/kg
(©) T 3650/kg
d) T 37-4%kg

49. Gl 3H # T AR Y@US ABCD I 7 | 52
feufa 7= 2 75 AB & afew #qm & wwd
80 m 8, 3 BC % gfew M 41 e 60 m
? | Y@ F I ITH YA F AW WS
Wshie #hI wEfeal s wh § | BC 3 DA
Y% & IR FES 4 m S 2 | AB ik
DC % 33w wrEfeat smm § 389 yoR s
1 dier H E f famashe e e
@S I "9, ABCD &S & o 5% i
=N @ | AB 3R DC I9% F smiwm
st #r =terd = #nft 2

(a 3m
(b) 4m
(¢ 5m
(d 6m

53.

54.

50. et ufbnis #, v o afefiel & 9 99w
H1 T FeRI, TdH o4 A F 99 o
T Th H 3R Toish =1 AR & g d
1 TH HI-ITW T AR @R | T8 FA
et 65 ®R ¥ | 3@ ubniw § 39fem
fafert it e 7 2 2
(a) 90
(b) 80
(e) 5170

(d 60

B-CRHE-O-PAPA (19-C)

=
SRAX I 2 cxex g

K3
Tt T, o fuft &1 g 9 9
ST H1 T TG YGH T Thell & 2
1. FEE 3R e
2. ST
3. %A famodr
4. UfE T el Y @l
e faw T2 gz 1 @ W a3 g

(a) Had1,23K 3
(b) Faa 1,23 4
(¢) Fad 33N 4
@ 1,2,33N4

I 5 779 3R 9 fomt et = =1 19 i &
U F FHd &, 9 3 9 3R 6 fomat st o
%I = fet & qu =i 2

(a 12f=

®) 13f=

© 14fF

@ 15f

afe forelt g9 i fisen #1509 wer faan s, @
I &35 fehaq gl e o 2

(a) 30%

(b) 50%

(¢) 60%

@ 75%

FHErl T S fufiem, 1948 § FrefiRea

R Fieferd &

1. 10 1 Aftess HawE o @™ 41
Tfesa™ |

2. FHUME T IH ThEm #H AwE
Fafehea T@9Te &1 3I9ay |

3. Wl qu Y4 % W THE o™ H
39eY |

4. 7Y I Faea W R § o

Eucicll
394 FHUE H A A TR F 2
(a) Had 1,23 3
(b) I 1,23 4
() Had 33 4
d 1,2,33M4




55. Consider the following statements regarding
the Pradhan Mantri Jeevan Jyoti Bima

Yojana:

,)< It is applicable to all adults above the
age group of 18 years.

e premium is deducted from the
account holder’s bank account through
‘auto debit facility’.

The life insurance worth is decided by

Directions : Each of the next four (04) items
consists of two statements, one labelled as the
‘Statement (I)’ and the other as ‘Statement (0108
Examine these two statements carefully and select
the answers to these items using the codes given
below :

Codes:

(a) Both Statement (I) and Statement (II) are
individually true and Statement (II) is the
correct explanation of Statement (1)

NS& (b) Both Statement (I) and Statement (II) are
the account holder and he has to pay individually true but Statement (11’ is nof the
the annual premium accordingly. correct explanation of Statemens (T
p I (¢)  Statement (I) is true but Statement (II) is
/ / The life insurance amount is given to false
e fautls, afer < thor dnthisol s Fow o Lpeer il Statement (ID) is
subscriber. true
Which of the above statements are correct ? 57. Statement (I) : The effects of an income tax otk
consumption, saving and invesiment are
{e). Liamd 8 only&“ micro effects.
&) 1andd only’> Statement (II) : Income tax is an example of
direct tax.
A£) 2and4 only
58. Statement (I) : Trade between two countries
(d) 2and 3 only takes place on account of differences in costs.
Statement (II) : Different countries have
different factor endowments.
59. Statement (I) : Foreign investment may affect
56. In an examination paper where maximum a country’s export performance.
marks are 500, A got 10% marks less than B, Statement (II) : Inflow of foreign exchange
B got 25% marks more than C, and C got 20% may cause appreciation of local currency
marks less than D. If A got 360 marks, what leading to a rise in the price of export
marks did D get ? {}C\ ‘o commodities.
(a) 65% 9‘&0 60. Statement (I) : Speaker of the Lok Sabha
appoints the Chairman of the Public Accounts
b (b) Committee.
G\c)\ ¥ ‘g Statement (II) : Members of Parliament,
\p © 75% 0\ eminent persons from industry and trade are
% \O the members ' of t Public Accounts
; @ 80% Committe (\‘.)
T
B-CRHE-O-PAPA o ’)'r\’b (20-C)
o o
ﬂf’




55. UM W Seq s@fa & G & osRod

56.

B-CRHE-O-PAPA

frafafaa o w fomm Hifvw

1. ¥ 189 ¥ e gt F weft T
T AR B R

2. ‘wa: Am ghawr. (I fe HRafad) &
s &, TE1-UTH $ ah-@a o fifem
Fr o Jm g |

3. ieq W # gou, @EETE 6 ga
fafafeea foran imar 2 i 38 39 IITER
i fifiem & g 2 |

4. feran 1 geg & ag Stad fm H af
3G IRER i & Al 2 |

I wo B @ WA w@ E
(a) Had 13 3
(b) HIALI;R4
(c) Haw2 3N 4
@ wae 23R 3

IRy 500 37 aret fordt ghen 9T § A
F B H 10% F 3% 4, B A C ¥ 25%
sIfts o7 fie, 3 C ' D ¥ 20% W 3H
fit | af A #1 360 3% ft, d1 D W fpad
¥ fiet 2
(a) 65%
(b) 70%
() 175%

(d 80%

AT : 371e TR (4) T A @ 9% 7 3 F97 8,
T 1 ‘FYT (1) KGR B FIT (A FET T8
37 2 F9 # GrEYr1 g e Fifee 3 A9 7Y
7Y e F JIT F §T JH F IR JHY :

e :

(a)

(b)

(c)

(d)

57.

58.

59.

60.

(21-C)

T wUE (1) 3R (1) ITAT-3THT HF & 3R
Y (I1), HIA (1) T TE TIHT 2

21 € U (1) 3N (I1) Fe-37e T 7 foheg
FUA (I1), HY (I) 1 T TR 787 2

%94 (1) T4 ? foheg HoF (1) 379 B

F9F (1) 39 & foheg o9 (1) 5 B

Fg7 (1) : 399, F=d AN 99w W 3mg W H

uE =afee gvE # |

FHYF (II) : 3T F, TI8 FL HI Th &0
21

Fg7 () : T oW % o9 WER, Al ¥ AR
% HRU BT 2 |

FYT (II) : - A & ITH-3TH HH
TEEHE B 7 |

Fog7 (1) Toesh faw foeft 2w & Fefa
frsares =1 wwTferd o ThdT B |

97 (11) : Toesht o &1 sfaate T g
i goagfg F wa 7, e w0
frafa 89 archt awged it Hmal §
gfg & =l 2 |

Fo7 (1) : A @1 AT, WAlH @l WiAfd H
sreae 1 Fgle a2 |

7 (I]) : THE TS IR I IR AR 7
¥ weugfass =afth @ orar afufd
& HGE B ¢ |




Directions : The following ten (10) items (items 61

66.
to 70) are on English Language; therefore, these
items do not have Hind; Version.

61. What is the indication out of the sentence -
1 gave him a piece of my mind’ ?
(a) Appreciation .
(b)  Warning
(¢)  Greeting t
(d)  Scolding 67.
62. What is the meaning of the expression -
‘Blue blood’?
(@) Polluted industrial waste water
M Sap of teak wood
(¢)  An aristocrat
© (d) A costly object
63. ‘He was hoist by his own petard’ refers to
(a) He had problems as a result of his own
plans to hurt others
(b)  He was high up on the pole
() He would usually run away from
trouble
(d)  He was indifferent to his surroundings
64. What is a Ballad ?
(@) A novel
(b) A historical narration
(e A popular story or folktale in verse
(éi)/~ Musical comedy
65. Plagiarism means
(a) There was an epidemic of plague in the
~ area | 68.
(b) Itisa sort of political philosophy
- () It indicates a happy community spirit
like in playing Holi
d It is presenting the work of someone
else as one’s own
B-CRHE-O-PAPA (22-C)

Rivalry between the two clans has beco
water under the bridge means
(@)  The rivalry ¢ontinues
(b) It has become a thing of the past
(¢) It connects the two clans
(d) TItisnot forgotten
Consider the sentence :
‘The teacher gave me the book’.
1 2 3 4 5 6
where the words are numbered fi
convenience of reference. Consider also th
Insertion of a single word ‘only’ into t
sentence to indicate a desired emphasi
Where shall this word be inserted if th
emphasis is to be
(i) On the recipient
(ii)  On the uniqueness of the item given
(iii) On the giver
respectively (only one at a time) ?
(@) () Between 3-4; (ii) After 6;
(iii) Between 2-3.
(b) (i) Between 3-4; (ii) Between 5-6;
(iii) Before 1 :
() (i) Between 4-5; (ii) Between 3-4;
(iii) After 1
(d () Between 2-3; (ii) Between 4-5;
(iii) Between 1-2 ;
What is the meaning of the term ‘didactic’ ?
(a) Intended to be inspirational
(b) Teaching a moral lesson
(e  Received as comical
(d)  Sharing an informative experience




g : fAEfakaa @@ (10) 35791 (597797 61 @ 70) | 66.
FTF 9T YT & & 37d: 37 JERN F 551 AR
75 Za T8 |

61. What is the indication out of the sentence :
‘I gave him a piece of my mind’ ?

(a) Appreciation
(b) Warning
(¢) Greeting

(d) Scolding .-

62. What is the meaning of the expression :
‘Blue blood’ ?

(a) Polluted industrial waste water
(b) Sap of teak wood

(¢)  An aristocrat

(d) A costly object

63. ‘He was hoist by his own petard’ refers to

(a) He had problems as a result of his own
plans to hurt others

(b) He was high up on the pole

(¢) He would usually run away from
trouble

(d) He was indifferent to his surroundings

64. What is a Ballad ?
(a) Anovel
(b) A historical narration
(¢) A popular story or folktale in verse
(d) Musical comedy

65. Plagiarism means

(a) There was an epidemic of plague in the

area

68.
(b) It is a sort of political philosophy

(¢) It indicates a happy community spirit
like in playing Holi

(d) It is presenting the work of someone
else as one’s own

B-CRHE-O-PAPA (23-C)

Rivalry between the two clans has become
water under the bridge means

(a) The rivalry continues
(b) It has become a thing of the past
(¢c) It connects the two clans

(d) It is not forgotten

Consider the sentence :
“The teacher gave me the book’.
1 2 IR R L]

where the words are numbered for
convenience of reference. Consider also the
insertion of a single word ‘only’ into this
sentence to indicate a desired emphasis.
Where shall this word be inserted if the
emphasis is to be

(i)  On the recipient
(i) On the uniqueness of the item given
(iii) On the giver
respectively (only one at a time) ?
(a) (1) Between 3-4; (ii) After 6;
(iii) Between 2-3

(b) (1) Between 3-4; (ii) Between 5-6;
(iii) Before 1

(¢) (i) Between 4-5; (ii) Between 3-4;
(iii) After 1

(d) () Between 2-3; (i) Between 4-5;
(iii) Between 1-2

What is the meaning of the term ‘didactic’ ?
(a) Intended to be inspirational

(b) Teaching a moral lesson

(¢) Received as comical

(d) Sharing an informative experience
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69.

70.

Consider the statement
peace and brotherhood permeated the address
by the Chief Guest.” Which of the following is
meant by ‘permeate’ in this statement ?

7 To advocate
(b)
()
(d)

To spread all over
To anchor and stabilize

To leave a permanent impression

Arrange  the following to form a

grammatically correct sentence :
Einstein was

although a great scientist
weak in Arithmetic

right from his school days

Sodd s A T

Select the correct answer using the codes
given below :

(a) 4,1,3and2
(b) 2,1,3and4
) 4,3,1and?2

)d») 2,3,1and 4

71. What is the chronological sequence of the

B-CRHE-O-PAPA

PRI S S

following events ?

First Battle of Panipat
Vietnam War

French Revolution )
First Gulf War %
World War I N
Select the correct answer usin(b’ fhe codes
given below :

(@) 1,5,3,2and4

(b) 8,1,5,4and 2

() 3,1,4,5and 2

¥ 1,3,5,2and4

: ‘The message of

72. A branch of scholarship that flourished in

73.

(245C)

Europe, particularly from the fifteenth to the
eighteenth centuries, and was devoted to the
appreciation, chronicling and classification of
historic and non-organic relics, monuments
and old texts refers to

(a)  Archaeology

(b)  History

(¢)  Architecture

(d) Antiquarianism

Which of the following statements are correct

in respect of ‘Stridhana’ ?

1. Various types of movable property
gifted to a woman on various
occasions during her lifetime.

2. Various types of movable property
gifted to a woman at the time of
her first marriage.

3. On the woman’s death, this wealth
could be inherited by her children
and husband.

4. On the woman’s death, this wealth
could be inherited by her natural
legally adopted children, with none of
the sons-in-law, having any
claim on any part thereof.

Select the correct answer using the codes
given below :

(a) 2 and 3 only
(b) - 2 and 4 only
(¢) 1and4only

(d) 1and3only
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69.

70.

71.
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Consider the statement : ‘The message of
peace and brotherhood permeated the address
by the Chief Guest.” Which of the following is
meant by ‘permeate’ in this statement ?

(a)
(b) To spread all over

To advocate

(¢) ‘To anchor and stabilize
(d)

To leave a permanent impression

Arrange the following to form a

grammatically correct sentence :
i Einstein was.

2.  although a great scientist
3.  weak in Arithmetic

4 right from his school days
Select the correct answer using the codes
given below :

(a) 4,1,3and2

(b) 2,1,3and 4

() 4,3,1and2

(d 2,3,1and4

Fafafga geaii 1 FremsHe 7= § 2
1. 9HYd 1 999 I3

e 33

ST Shifd

o Wet g

S 0 D

5. gu fawa I3

H9 fou T e w1 wEm W FE W g
(@) 1,5,3,23MW 4

(b) 3,1,5,43M 2"

(© 3,1,4,53R2

@ 1,8,5,23MW 4

72.

73.

(25-C)

fagm 1 v v, W W #§, fPwa: ggEdt
T wenEdl valfedl @@ well-pent IR S
TR e % ge-faeen, sfoem-ced
3 =it 1 gufda oft, fopar ffdse et 2 2

(a) TOACAETH |

b) IfEm
(¢) TATIIHA
(d) TeHERE -

Thus % R § fefafed wuE § @ SR
wd 22

1. faftm yor & 9« =iy s s St B
Ig% Saaea § faftm el @ IUER
FEIARAMR |

2. Tofim yor 6 =« wfe s s ©ff #

g% guw foaw ¥ T0g IUER WY §
iR

3. ©ft f g W, g v IgH HaW IFR
afs =1 foraa # firer wehar 2

4. T gY W, Ig 97 IGH A4RH B
2o Hami i faved ¥ e g g, oK
39 g % fepdt off W w35 g § §
foreht =1 oft E <ran & &\ |

H= f2 MU e 1 FE W HE IW gAY

(a) Haed 23 3

(b) ad 23 4

(c) aﬁ'c’rlﬁ(4‘

(d) aer 133




74. What is the number of States and Union | 78. What is Know India Programme (KIP) ?
Territories in India ? ‘2l A programme for children aged 12 — 15
@ 29 and 6 vears from rural areas to make them

aware of different aspects of India
2
®) il (b) A programme that facilitates visits of
() 29and?7 &/ rural teachers to different parts of the
,/ [ country
(d 28and6 (v 2
X \5 () An outreach programme of the
?' Ministry of External Affairs to build
= N e closer ties with India’s neighbourhood
5. ; B
W l: OG}: : ,,O M Rl . /LM A programme for diaspora youth to
SRR gnate ¢ promote awareness among them about
) UNESCO declared 39 places in the different aspects of India
Western Ghats as ‘World Heritage Sites’
in 2012 ; . :
It is one of the eight hottest hotspots of 79. What is the perimeter of the figure shown
: : : e below ?
biological diversity in the world % B
>(~Q/ It has two reserves and thirteen
national parks C D
ONGC surveys have recently found 10 E F
huge oil reserves
G H
J 12 I

76. A‘yodl;ya is located at the bank of which AJ=10cm, JI=12 cm,
sk AB=x,CD=x+1,EF=x+2 GH=x+3,
(a) Falgu BC=DE=FG=HI=y
(b)  Ganga (a) 44cm

oA Sarayu (b) 48cm
(d) Yamuna (¢ 54cm % 26 & o

@ 58cm ax ¢y
Gt &L

77. The Khilafat Committee accepted Mahatma
Gandhi’s —suggestion for a non-violent | go, Special Economic Zones (SEZ) are developed
non-cooperation protest against the to
Giv’erm its meeting at (a)  Generate additional economic activity
(a) Bombay Jthroughout the country
(b) Nagpur (b)  Beautify suburban areas

)P)/. Allahalind ()  Upgrade the facilities in the countryside
()  Promote investment from domestic and
(d)  Kanpur foreign sources
B-CRHE-O-PAPA (26-C) 90 & Yoyt &6 4*4\1




74.

75.

76.

1.

B-CRHE-O-PAPA

"ra § frae T o T TouEe € 2
(a) 2936
(b) 283 7
(c) 2937
@ 2836

gfyenft we % a1 # frefafea § & sF-a @@

TR

(a) UNESCO ¥ 2012 # ufRmft & &
39 Torel @i ‘Fava fawaa woe’ oy foman

(b) ¥E fva ¥ Ja-fafaua ot e awad
TEEE! (e giewie) § ¥ TH B

(¢ 34 o T W 89 wEq aw UNE

A &

@ @@ @ ¥ ONGC T ¥ fyww ¥ »

 Feg e E

e fpg 78 % 9 W EfE 8 2
(a) T
(b) T
(c) Y
(@ IHIT

WW%MMWW‘WW
T wgrem T %, @R % faeg fEEens
Fgeam faly & gaa i Wi e o 2

(a) w3

(b) ATTYL
(c) FEIRISG

(d) HHEYL

78.

79.

80.

(2141C)

‘Srm 1 T FRE (KIP) 741 & 2
(a) T &1 % 12 - 1599 Y F T
fou, 3% wRd % fafim vagedt & ar &
FITES §TH §q HEHA
(b) T et % w % fafte v ®§ ymor
=1 g S B HEHA
(¢) HTE % U Wi % @y freeam g
=91 & fou Ry Here™ #1 TOR HrEHH
(@ faEet § af undig ganed & fou, wwa %
Hfim vegsl % fow & SrEwa SR
7 FEHT
= zurté ¢ el 1 whema fea R 2
A B
C D
10 . E F
G H
dJ 12 I
AJ=10cm, JI =12 cm,
AB=x,CD=x+1,EF=x+2,GH=x+3,
BC=DE=FG=HI=y
(a) 44cm
(b) 48cm -
(¢) b54cm
(d) 58cm
9w onfdw 851 (SEZ) = fra fou fasfem
frRrm ® 2
(@) W W ¥ fafe anffe nfefafyr sca=
w1 * fog
(b) I & F gl & fag
() gl ¥ glaunsit w 39d & g
() e @ R |l @ fRw & ded %
fog




81.

( 82.

=)

¢1;

83.

There are 20 girls and 30 boys in a class, and
thei i e found to
be 55 and 58, The average marks of the entire
class are ,“ o0 7§y
(a) 565 | Qe v
(b) 566 ‘

9 2
(c) 567

A
(d— 568 < | K

Consider an industry with the following
features :

. Budgeted monthly fixed

v T2,20,000

eost =

. Normal monthly output = 12000 per
standard labour hour

. Standard variable overhead rate = ¥ 25
per labour hour

What would be the total factory overhead
rate ?

(a) ¥ 40-33 per labour hour

(b) ¥ 41-67 per labour hour
(¢) ¥ 42-67 per labour hour
(d) ¥ 43-33 per labour hour

Acid rain is due to

)L, Sulphur dioxide pollution

(b)
(c)

Carbon monoxide pollution

Pesticide pollution

There are four identically sized and shaped
balls in a box, with only its top open. Each
ball is of a different colour, these being :
Green, Red, White and_BluMnly one ball of
each colour. Without looking into the box, one
ball is randomly picked out and its colour is
noted; then it is returned to the box. What are
the chances that, in two successive draws, one
may get the white ball and the red
ball — in whichever order ?

1/16 /%—_,

(a)
(b)
(c)

1/8
e

/&/1/2

86.

—®)

o o

s
3

]

Consider the following programmes :
Credit Linked Capital Subsidy Scheme
Micro Finance Programme

National Manufacturing
Competitiveness Programme

A" Cluster Development Programme
What is common in the above programmes ?
(@ They are related to improving
agriculture

They are programmes related to Micro,
Small and Medium Enterprises

They are programmes to improve large
scale industries

S

They are programmes to improve the
traditional cottage industries

(d) Dust particles in the atmosphere
84. DNA fingerprinting is a technique used for 87. SPAM in a system (e-mail) is
the detection of
for el (a) A message distributed indiscriminately
(a)  Alzheimer’s disease 5. Sk s :
search engine
~Ab) Disputed t :
el (¢)  An activity of the user
AIDS
7 (d) A command initiated by the sender
(d) Yellow fever
B-CRHE-O-PAPA (28-C)
= —— — — ——e e ————————




81.

82.°

83.
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frdft wam o 20 wefRAt 3t 30 @igS F, o
I7h a7 AW 55 3R 58 F | I weaw
¥ el %1 AEa TR ?

(a) 565

(b) 566

() 567

@ 568

frefafea sfimen s fFd sam w faEm
#Hife -
o T I T Ak F1Fd A = T 2,20,000

o WM TS 3ITE = 12000 Jfd THF W
T

o T giad] I9NTT @ = T 25 fd o9 =T
et 1 T IufeT g F BAA 2

(a) T 40-339fd o9 T
(b) T 41-67 9 3| g€
(¢) T 42-679fd 39 ¥
(d T 43-339fd 3@ ga1

et ot femereh RoT BNelt & 2
(a) TR SRIFETTE TGT0T
(b) I THIFETES JGH
(c) g Sy

(d) aTaTE H 4 F H0

DNA 3mfa-sm (femfifén) qefe &1 swam
foraeh T & fore fpn stman 2 2

(a) HAASTSH (Alzheimer’s) |

(b) faarfeq saemar
(¢) AIDS
@ s (I FeR)

85.

86.

87.

(20:8¢)

FHFE AN 3R AHR I IRAR, Fad SR
T TF EgH B § | I g fmfim T i g,
@ E W, @, Whe @ A | T H
Fae o 4 e @ | fo Hom W W, @ g
o ST el T SR sEE T Ak
FH H F1% 3 HeH ° aw W@ fm mn 1
wivs =iyl § ts g%e 3R T 1 g %,
et ot srppm #, feet I B T FWE
22

(a) 1/16

®) 18

() 1/4

d 1/2

fafafan wrma ® faem il .
1. = g ot S9eH A (shise fos
Fftee afedt =him)

2. gem fom FEwET (AR BeE )
3. T fatmion  gftrooufoerar  wrisw
(et Bgtherafin sifeafefeaa wom)

4. ugg fowm FEHET (TR FEETHC

STT)
394w HEwE 8§ S Fd-am R 2 2
(a) o HfY % Gur § wrafd &
(b) I gew, @Y I AW ITEi ¥ wEud
HIHA 7

(© 9 w3 W & M F gUrR F foU
HTEHA 8

(d) 9 9RIR® FIR I & IR & fog
A &

et a1 (3-0) o T9 (SPAM) 1 BT 8 2

(a) amguﬁaha%mwﬁéaiﬂ

(b) TGN () T4

(¢c) I9ANTRd! sl ek Tifafafy

@ 9% g y9 fRE T @i wERw

(1)




;‘ 88. A cylindrical closed tank contains 36m cubic | 91. The famous ‘Giri’ approach in Industrial
metres of water, and is filled to half of its Relations in India espouses the cause of
i capacity. When the cylindrical tank is placed (@ Adjudication
’ upright on its circular base on level ground. '
the height of the water in the tank is 4 metres (6)  Compulsory Collective Bargaining
But when this tank is placed on its side on ‘/(c»\ Conciliation
level ground, what will be the height of the & Aditation
surface of the water above the ground ? ‘
(a) 9 metres
(b) 6 metres
(¢) 3 metres :
I el 92. In adra:ice, 'tl'lte fl';rsthfov.‘lr w:;nners tf;x'e tot :e
awarded points. Each winner's must be
89. Data regarding inventory of a particular item 5’5&??1&1 that oP the' tok p::;n S vor.
of usage in the production activities of an C 9 Total sum of the points to be awarded is 50.
organization are : the quantity in stock is What will be the points for the third position
1_52(_)_ units and the value of this stock is Sinter?
¥ 1,27,500. (This works out to an average
unit cost of ¥ 85.) During the ensuing year X, @ 30 = e
an additional 300 units are purchased at a (b) 20
unit cost of ¥ 95. Consumption in production e 10 ‘f % t g/
processes during the year X has been 20 P &
600 units. Working by the First-In-First-Out @ 5 I 4 z2°©
basis, the value of the residual inventory
of the item at the end of the year X will be
(a) ¥ 1,00,000
| 25°°, (b) ¥ 1,02500 "3‘79 o" 93. Which of the following trends in FDI inflows
€« 2 % 4 (&—F 1,05,000 < are correct ?
| b @ ¥ 1,07,500 Y g L 1p, In 2003 — 04, the FDI Equity inflow
90. Consider the following statements awo percentage growth was negative.
Tndia Radie:: 55 <2 From 2004 — 05 to 2007 — 08, the FDI
It is governed by the Prasa} Bharati inflows were very high and positive.
Board. __3~ In 2008 — 09, the FDI inflows were
2. It was so named in 1936. positive, but had decreased relative to
~3. It does not provide DTH services. the previous year.
" 4. FM Rainbow and FM Gold are its ;
subsidiary channels. Select the correct answer using the codes‘
given below :
d) Which of the above statements are correct ? L i
5 (@ 1,2and 3 onlpg? G v 5
\' ° (& 3and4only (b) 1,2and3 : Lo
\r\, e~ 1,2 and 4 only ™ t 1/6’ 2 and 3 only |qe
@ 1,2,3and4 » 2 L0 O @ A T
¢S oo
Z v 6 =
B-CRHE-O-PAPA FE ik 0 (30=C) L?-:-l‘;' L5 e
|Se > | &s
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1

et SRR w5 St # 36n T Hiew 9 2,

88. 91.
IR F® AT &Har & e wh R | oW
SR TH H FAGA 4 W 3@h AR
YR | @ foman oman 2, &1 &h # oA H
Fog 4 Hi Bt 2 | S 59 3@ S W
FHae i W 38% I W W@ 9, a4 3
FR FAYSS I SIS 1 Bt 2
(a) 9HIX
(b) 6T
(¢) 3"

(d 1 92.

89. forelt weem o 3Ieuren it nffafery & sygmr o
M el et faftre g it aregEh T
JATHS 39 PR & : ©iF § TET 1500 THE 2
3R 39 Wi & ged T 1,27,500 8 | (369 9
313 3NEd @G T 85 Feherd! € 1) et o
X % M, T 95 1 ufd 3HE @ W 300
Ffafe shrsal e wrdt & | Ieared it
# X a9 % 4R 600 ThTEAT 39U B A 3 |
& -3TTTH-Tg-Sah & YR T HHE F W,
a9 X% 3d § 39 geq hl IaRme qrel-gE w5
e 1B 2
(a) ¥ 1,00,000
(b) ¥ 1,02,500
(¢ ¥ 1,05,000 93.
(d ¥ 1,07,500

90. M@ (e sfeEr W) F owry &
Freafafaa sui w fF=r Hifvm .

1. I8 yER 9t 91 g fafia 2

2. 39 98 AW 1936 # feam mam |

3. I8 DTH ¥amd YgH T& et |

4.  FM @& 3R FM Tiee 369 980& =50
g1 :

ITAE HYA A A HH-Y GG 2

(a) ad 1,23 3

(b) haet 33N 4

(¢) I 1,23 4

@ 1,2,334

B-CRHE-O-PAPA (3189

uwE ¥ FEhe el § wfeg Fie summ
s s R e
(a) —TREEEET

(b) F==E Tl deed

(c) TEEH
(@ ==

et 22 3, yum =R faSarsl # % wem
fpr 9= 2 | T A9 & o 3o 9% WIe
F WHE S faua & @ ¥ 5 o B
HEWEF 2 | T YoM fhU 9 O st @
IrThe 50 2 | R T ¥ e % e
3% BN 2

(a) 30

(b) 20

() =10

@ 5

FDI 3atel # Frafafea § & sW-dt yafwt

TEE 2

1. 2003-04 H, FDI 3fFadt (@mn) aidafs
Sftreraar gfg Fomers off |

2. 2004-05 ¥ 2007-08 % FDI 3aaig
a3 IR GATeHS & |

3. 2008 -09 ¥, FDI 3iqdig v 9, fohg
frost af &I amen = & |

Hi=r fw U e 1 T = aE I ghT

(a) wHadA 133

(b) 1,233

(¢) had 23 3

(d) e 130K 2




In raising an object to a given height by
means of an inclined plane, as compared with
r@g& object vertically, there is 2
reduction in
(@)  Force to be applied
(b) Work required

4 Distance covered
(d) Friction force

@. The mean and standard deviation of a set of
16 non-zero positive numbers in an
r;)Fservation are 26 and 35 respectively. The
mean and standard deviation of another set of

24 non-zero positive numbers without
changing the circumstances of both sets of
observations, are 29 and 3, respectively. The

mean and standard deviation of their
combined set of observations will respectively

98. Which one of the following  software
applications would be the most appropriate
for performing numerical and statistical

calculations ? 4

(a) Database
Spreadsheet

() Graphics package

(d)  Document processor

Consider the following statements on Global
Positioning System (GPS) -

'\/1. GPS ‘allows accurate time-stamping on
ATM transactions. :

2.7 GPS relies on a set of satellites for
transferring signals worldwide.

Which of the above statements is/are correct ?

be

(a) 27-8 and 3-21
(b) 262 and 3-32
(¢) 27-8 and 3-32
(d) 26-2and 3-21

(a) 1only

9, 2 only

(¢) Both1and2
(d) Neifher 1nor2

A sinusoidal transverse wave is travelling on
a string. Any point on the string moves in

100. Consider the following statements :

Cellular technology evolves in stages called
Generation (G), where

97.

B-CRHE-O-PAPA

(a)

(b)

(c)

(d)

SHM with the same angular frequency
as that of the wave

SHM with a different frequency than
that of the wave

Uniform circular motion with the same
angular speed as that of the wave

Uniform circular motion with a different
angular speed than that of the wave

1:

>
~S,

A Generation represents the number of

. Subscribers; higher Generation has

more subscribers.

2G technology has two standards
CDMA and GSM.

2G technology has CDMA standard and
3G has GSM standard.

The devices that work with computer systems
@s-soon as they are connected are described as

Which of the above statements is/are correct ?

(a)

1 and 3 only

(a)
(b)

Hot Swapping
Bay Swap

e~ Plug-N-Play

(d)

USB Swapping

(b)— 1 only

(32—

(e)
(d)

C)

3 only
2 only




. 94,

95.

96.

917.
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et aeg 1 Feate IeW HI g H, IE T8
F1 Freft 3Ta e BT T W T & TE S
% Jom o, fr v < # i At 8 2

(a) TE A A I §

(b) ITferd wE H

(e) mﬁnﬁaﬁﬁ

(@ =¥ A §

et Yeor F 16 YR GACHS FEAH F Th
Ty % Wed i A ferme w26 3
35 ¥ | 24 YA GACHS TEAH H Th I
W= % W SR g fereem, 2E A e
%1 aRfeafet @ ager fom, shee: 29 3R 38 |
3% gufSd T=a % wed 3R A fomer

ShHRI: T '@fﬁ 7 *
(a) 27-8 3N 3-21
(b) 2623 3-32
(¢) 27-83MN 3-32
d) 2623 3-21

TF SEHE AIEY T fRdl T WA

@ meg et g fmafiige

(@) @ H P FAEA F EHE B
gt arelt SHM (87t 3rad i)

b T g ¥ fm g aelt SHM
(Tt Imad i)

(¢ T # HofE = % FEE HOE =T
el CHEHH e A

@ o $ soir uw F fm wef =@
Telt THEHH gt T

1 o (R =, < flt g
3 @ dow 9N, FE KW w &, 5
9 & aftfq foman e 2 2

(a) 3TUTd THIEA (e Tf)

(b) T

() TR

(d) USBHIHA (¥&fdm)

(33-0)

g8, Fi=fofes & ¥ FH.G1 T Hitedm WM

(Aferre) Seaer iR Hiferhr qieherl &
fisares ¥ fore waifueh 9g & ?

(a) Fiw= 599 (3TEH)

(b) TSR

(0 weE (Ifeew) Fhd

@) vorE S (Slegie TEm)

e om-futon e (vl dit
firew) (GPS) ¥ fawy # frefafed wo =
ﬁ?ﬂiﬁﬁﬁz i

1. GPSE ATM wemEEdl # wend wwa aifeRd

IR |

9. GPS THdl ¥ favesmdt s % fag
I F U A W PR wan R |

I FA H § AR T R 2

(a) a1

(b) Fad 2

(© 13w 23A

(@ FA1L,TR2

. frefafgs s w fmm Hif

a;gmsﬂaﬁﬁmﬁawﬁﬁﬁﬁﬁa@?ﬁ%,m

i (G) FEd &, TRl

1w G Iurmed i ogen # el
;aﬁ%;mmﬁmm@a

1 :

9. 9G Ml  CDMA 3R GSM @ HH®
T

3. oG Hefieh § CDMA WM 3R 3G #
 GSM A B ¥ |

I A A B/ TR 2

(a) Fad 13 3

o A1

(c) %ad 3

d) Had 2




Which of the following statements reflect the

distinctive features about 6th century BCE

?

Ganas or Sanghas ?

1. The ancient Indian Ganas wers
oligarchies.

2. The ancient Indian Ganas were
non-monarchical states.

3 Magadha, Kosala, Vatsa and Avant
were the most powerful States of

that era.

4. The procedures of the Buddhist
monastic  order  (Sangha) were
patterned on the Sangha polities.

Select the correct answer using the codes

given below :

(@) 1,2 and 3 only

(b) 1,2,3and4

(¢) 1,2and4 only

(d 3and4only

102. What is the chronological sequence of the

following developments ?
+ 1. Decline in the export of Indian cotton
2. Cotton boom in India

3. Civil War in America

Select the correct answer using the codes

103. Which of the following are the typical

differences between the private insurance

programmes and the social insurance
programmes ?
~*~  Adequacy versus Equity
27‘ Voluntary versus Mandatory
Participation
_-2.  Contractual versus Statutory Rights

_%  Funding

Select the correct answer using the codes

given below :

(a) 1,2and 3onl

(b) 1,2and4 only
3 and 4 only

(d 1,2,3and4

104. ‘Unbalanced’ Growth is hypothesized when

(a) Expansion can take place.
simultaneously on several growth
routes

(b)  Supply of labour is fixed

()  Supply of capital is unlimited

() Active sectors need to, and do energize
sluggish sectors

105. Which of the following are incorporated in the
Goyernment approved National Telecom
Policy, 2012 ?

> i Broadband for all with a minimum
download speed of two megabits per
second

2.  India’s rural tele-density to be improved
from 39% to 70% in the next five years -

3. Roaming charges shall be scrapped

given below :
Select the correct answer using the codes

(@ 1,3and2 L A given below :

&7 2,3and 1 (a) 1and 2 only

© 1,2and3 () 1and 3 only
(¢) 2 and 3 only

L
o i & 1,2and3
B-CRHE-O-PAPA (34-C)
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(@)

freafafiga oAt § @ $19-8, 931 yarsd BCE
F it o get * fafne sfraet wr sfafafea
HA 8 ?

1. e 9 T SFegad o |
9. yrie wReE Tor RS T & |

3. WY, HEd, 908 9¥1 Efd 38 T H
gaifies wftreelt T o |

4, g He wuEEdn (FW) i HEfEREr '™
Tofe T afeefua Bt of |

2 f3 U e w1 A R EE IR IR
Fad 1,2 3R 3

1,2,33M 4

Faat 1,2 3R 4

FHaa 3 3 4

(a)
(b)

(c)

frAfefiaa SeTshHT 1 HICTIHA F1 2 ?
1. WA w9 & i § sE

2. WA # HYR I H oSl

3. Wi H 8 g

Hr faw e He 1 T R FE IR g
1,33 2

2,33 1

1,23 3

2,13 3

(a)
(b)
(c)

(d)

(35-C)

103.

104.

)

105.

fofafes & & #98 fFelt (gae) &im
FEHET AT ST AT HEHA o dE Tl
faug E 2

1. YETal S "

0. wfes® s9m Ffueymcas Tl

3. Hfegees sAW Fifdias TR

4. TadE=

9 g e H2 & @ W T IR IR
(a) I 1,23 3

(b) e 1,23 4

(¢) Haw 33 4

@ 1,233 4

‘JrEqfea’ Fgig a9 Wehiead gl 8, e

@) vEw, fafaw wgfg am w @aEe @
a1 &l '

5 1 ofd fra &

4 #F qfd ot @

TfEa duai ¥ fou e @ 2 fF 9
Tz U2 &t #1 Beaniie sAd 3R 3 3%
framsfie s 8

(c)
(d

frafafigs § @ S8, THR gA FgHITe

e g Afifd, 2012 § wfafas € 2

1. 3 FmiegE gfa dehe i JEaH SEAAs
TR % a1y, @+t & forg sitess

9. o™ ute &N H wRd & I
o (3A3REA) F39% ¥ I
L 70% FAT

3. Aff yui S wEE fear S

3 f2 U e 1 A R EE IR IR
(a) Had 13 2

(b) et 137 3

(c) hae 23R 3

(d 1,23W3




106. Which of the following is " one of the
Millennium Development Goals fixed by the

UNO? )
(a) Halving extreme poverty and halting
the spread of HIV/AIDS

(b) Develop a new variety of foodgrains
which can ensure bumper crops

(c) To ensure that population does not
increase in the least developed countries

Develop procedures towards adegquate
and timely forewarning on hurricanes
and tsunamis

107. The term ‘Carbon footprint’ means
(a) Aregion which is rich in coal mines

(b) The amount of reduction in the emissior/
of CO2 by a country

(¢) The use of Carbon in manufacturing
industries

(d) - The amount of greenhouse gases
/ produced by our day-to-day activities

108. Amongst the following, who is the latest
recipient of the ‘Bharat Ratna’ award ?

(a) Sachin Tendulkar

! y Atal Bihari Vajpayee
(¢) Amartya Sen
(d) A.P.J.Abdul Kalam

‘Green Revolution’ in India was expeditiously
feasible in zones of

Lga) High rainfall

/(—b'f Moderate rainfall

(¢) Assured irrigation

110. What is Apartheid ?
(a)  Aninternational organization of peace
(b) A medical term
(c) Atrade vcharter

_ (@A policy of racial éegregation

111. Transportation plays a great role in any
economy. Which of the following modes of
transportation has the highest elasticity ?

’(/aVAir

(b) Rail
" Road
(d) Water

@ How does an expansionary monetary policy
affect the rate of interest and level of income ?

(a) Raises the level of income but lowers
the rate of interest

(b) Raises the rate of interest but lowers
the level of income

(¢) Raises both, the rate of interest and the
level of income

(d) Lowers both, the rate of interest and the
level of income

113. In a medium-size township, the trend of
annual immigration is an addition of 20% of
the population as it was at the beginning; also
15% of the population as it was at the
beginning is estimated to relocate elsewhere
every year. If the current population is 80000,
what is the likely population three years

Ad) Higher population density

B-CRHE-O-PAPA (36

hence ?
(@ 90000 "poc e
(b) 91200 "”I@/
Ler 92000 Gabs
@ 92610
=C))
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107.
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frefafiga ¥ -9 T, UNO g i g
U gEEfe: e wedi § ¥ T R 2

(a) oTcfas fFdwar & T ST B
3t HIV/AIDS % oR T ferm &t

(b) @ T e RrfE T SRR
wae gfea H

(¢ % ghfTem e 6 sreqan fawfa 2w
# SEEE 7 9

@ SR qur g % faww § gt el
g W @ S oA St SR
forpfira & '

e Fefie’ eg o1 1 ARE R ?

(a) TH &, T P H @HI § TR 2

(b) et 2 gRT CO, % Iewwa | i TS el
CaReiEl

(© fafmin se § S = wEm

@ TR TR % feaeam ® 3O
gres i A

frofufegs § ¥ ‘RE ™ [ERR F AW

YTeqehdl i & ?

(a) ‘Hﬁﬂﬂ@?ﬂ

(b) 3rea fogrt aredt

() W &

@ TS, 3sge FeA™

ara § R wife’ e &7 # i & wrem oft 2
(a) I= a6 9

(b) oreqEe ISt A

© ffrm s e«

@ I FAEEIT T AT

110.

111.

112,

113.

(BT 4I0))

-9 (39ds) | 2

(a) S 1 T AU TS

() Tafee Tt wsg

(¢c) SAEETES TGOS

(d) ST HYeE T A

fopeht st srdferaeen § dRae & w9 i

fwrr 2| vhee & Fefafes ye/i § @
forgeh! @ AR B ?

(a) 9F
b W
(c) HsH
(d) S

g f A Ay e TR @ e

qAT AT T HY T AT B 2

(a) ¥@ TR A SgR ¥ UGG S X B
Pracifd

b) =E @ B TG R WG I TR B
et 8

() SIS T qUT ™ W GHT I SErdt 7
() SIS T qYT A T I Y Terd 7

frdfl qEIH-STHR F ITFR H, I AT
# wafr sifres s § 20% R qg S
#1 ¥, o & EE 2 o S e d
15% ST a8 I S F FE A T I & |
I SdaE SHEEAT 80000 B, 1 I ¥ i A
Ty ST e F4 gt 2

(a) 90000

(b) 91200

(¢) 92000

d 92610




114. The Problem of Rupee’ was whose DSe l@ Under the Constitution of India, which of the

Thesis ?
_,(a(‘ Sri Aurobindo

(b) Dr. Rajendra Prasad
(¢) Pt Jawaharlal Nehru
(d) Dr. Bhimrao Ambedkar

115. What is the correct sequence of tributaries of
the river Ganga from West to East ?

:’/@/Yamuna, Ghaghara, Son, Gandak and
Kos

(b) Ghaghara, Yamuna, Gandak, Kosi and
Son

@ Yamuna, Ghaghara, Gandak, Son, and
Kosi

(d) Ghaghara, Yamuna, Kosi, Gandak and
Son

116. There are two circles of radii r; and 1,
(r; < ry). The area of the bigger circle is

693
em?. The difference of their
@mferences is 22 cm. What is the sum of

the diameters of the two circles ?

&

following statements are correct ?

1. The Constitution is supreme.

&

There is a clear division of powers
between the Union and the
State Governments.

Amendments to the Constitution have
to follow the prescribed procedure.

The Union Parliament and the State
Legislatures are sovereign.

5. The Preamble to the Constitution
cannot be invoked to determine
the ambit of Fundamental Rights.

e
4

Select the correct answer using the codes

given below :

(a) 1,2,3,4and5
D) 2,3 and 4 only
~% 1l,4and l5 only

(d 1,2 and3only

119. When the Government ownership in Public

. (@ 175cm Sector Undertakings is diluted, it is called
(\, ’ Cc\ 4657 22cm ,\ (a) Privatization
) ot () 285cm (b) Public-Private Partnership
(@)  S5em 4¢J Disinvestment
117. Numbers a,, a,, 8, 8, 8 .., 8, are in (d)  Deflation
arithmetic progression and
a . +a.+a . +a, +a, +a, =225
e s 120. The Right to Free and Compulsory Education
The value of Act, 2009 provides for education to every child
RS 8, +8,+a,+a, +a .. 8,48, i in the age group
\;7% (a): 525 (a) 5 — 13 years 20
< Vou® 725 (b) 8- 16 years :
'E o %’c) 850 .- (¢) 7 - 15years
11 '/(p— 900 Q; ¢+ Qqgkaje okd) 6 — 14 years ('V\ J-\') 4
B-CRHE-O-PAPA 1 38-C
% acssns oy faas QYR LR
10 © 56 b e

&4
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115.

116.

117.

2 yisom 3if® T fFET DSc H ME-JEY
a1 ?

(a) ot sfamg

(b) Ei. T&g J85
© U JEA EE
@ <. sfiaue s

T A& 1 gEEe Afedl & ufvem ¥ @ A
3R HE A T8 2

(a) T, HTEI, HH, TEH R HE

(b) ETE, TG, TS, HIE IR WA

(¢) T, HTE, e, T I HIE

(d) ETE, I, BT, TeH R EH

rlﬁ(rzﬁﬂTﬁ(rl<r2)%a§ﬁ§|@§ﬁ
Wwﬁ?cmzﬁlﬁﬁqmmw
22 cm B | EHI FET F AE H AMHA H
272

(a) 17-5cm

(b) 22 cm

(¢) 285cm

(d) 35cm

3

aj, 8y, ag, 8y, 8g, vy 324m AR irsﬁ | %

3ﬁ'(a1+a5+a10+a15+a20+a24=225% |

a1+a2+a3+a4+a5+...a23+a243?lﬂ17{w

??

(@ 525 2

@ 725

% 850 27

(d 900~
1

B-CRHE-O-PAPA Y Jg e

&
2<
e

(39-C)

118.

119.

120.

IE ¥ afage ¥ odfe, frefafea o & 9
T TE F?
1. Hfqus gar= ? |

9. TY AU TSI GR % o9 WReA H
e favem 2 |

3. dfgum & guiyAl & forg fafga gfsean &
FFET HAT BT 8 |

4. T9 F HEg a1 TS fqurEsd |y € |
5. oo s i aifa B fuifa w@ %

fou dfggm 6 R F T @
o s @epan |

Hi= f2u U e 1 T R HE IR gAT
(@) 1,2,3,435
(b) Hae 2,33 4
(c) Had 1,43 5
(@) ad 1,233

J§ gEe 89 % I9HEl § TR wWike
0 T3 wman 2, df 36 w1 HEd & ?

(a) TAsieRtor
(b) EEwe-FS Hrfert
(0 faf@Ew
(d) Fawhifa

e w atad e 1 sfier sifufEm,
2009 fore 311y =i % ws s= & fore fuenm &
IeY HAT B ?
(a) 5-13T%
(b) 8-16a9
(¢ 7-15°4
d) 6-1499
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